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Boxplot of Concentration (ug/L)
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Boxplot of Concentration (ug/L)
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Boxplot of Concentration (ug/L)
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Boxplot of Concentration (ug/L)
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Boxplot of Concentration (ug/L)

Constituent = Mercury - Filtered
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Boxplot of Concentration (ng/L)
Constituent = Methylmercury - Filtered
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Boxplot of Concentration (mg/L)
Constituent = Total Organic Carbon
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Boxplot of Concentration (mg/L)
Constituent = Total Phosphorus as P
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Boxplot of Concentration (mg/L)
Constituent = Total Suspended Solids
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Boxplot of Concentration (mg/L)
Constituent = Nitrogen, Nitrate-Nitrite
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Boxplot of Concentration (mg/L)
Constituent = Sulfate (as SO4)
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Boxplot of Concentration (NTU)
Constituent = Turbidity
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